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Q1. according to James Duesenbbery individual consumption pattern is.
Chose the correct alternative.

1. consumption pattern is reversible .

2.Consumption pattern is irreversible "

3. Consumption pattern is interdependent o

4.Consumption pattern is independent.

A, Only 2.

B. 1land2aretrue.

C. 2and3aretrue. o
D. 2and 4 are true.

2. According to Keynes what causes changes in inducement to invest by
entrepreneurs?
A |

A. MPC and MEI _[_('/l (v, ’ l kr.t-']
B. MEC and MPS .
C. MEC and rate of interest a" ”*,A ikl $i4 J""“
D. MPC and rate of interest @ 14 Ih L4 L .
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3.fiscal policy is more effective when o z l/u
1. LM curve is less elastic. Fi _‘
2.15 curve is less elastic. = N &/ »

3. LM curve is more elastic. (8 =

4. 1S curve is more elastic.

A 1and 2.
B. 2and3 z=
C. 3and4
D. 1and 4
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4. Under classical theory, _@@s determined by
A. Demand for money and supply of moncy

B. Demand for capital and supply of savings 0¢="

C. Demand for investment and price level

D). Demand for investment and supply of money

5) The Foreign Trade Multiplier is the ratio of;

A the change in equilibrium output to a change in investment expenditure.

B) the change in the money supply to a change in the monetary base,

C) the change in the money supply to a change in the autonomous expenditure.
Dythe change in equilibrium output to a change in the erm::l.//'
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and its equilibrium value is called:
a) The Aggregate Supply Curve

b) The Battle of the Mark-ups

¢) The Phillips Curve

d) Okun's Law

9.In the context of investments, which of the following statement(s) isfare

CORRECT?

A According to the accelerator model, investment demand is proportional to
change in income

B. The higher the real interest rate, the higher is the rental cost of capital

C. Investment is alstock Yariable - f 1o

D. The real rate of interest is egual to the nominal rate of interest plus the
inflation rate

Chanse the correct answer from the options given below:

1. AandBonly

2. Aand D only

3. BandConly

4 CandDonly

10.Match List = | with List=11 :

List=1 4 List=1l

a. Keynes \,‘J I. Interest is real phenamenan.

b. Irving I'isnc(l‘ ii. Interest is non-monetary phenomenaon.

£ Wicksaml\ ii. Interest is both monetary and nonmanetary
phencmekan, v

d. Classical Econo(nisk iv. Interest is monetary phenomenan. /
Selact the carrect answer fram the codes given below :

(3) v iii di i
[EARIRRa

11.Friedman’s modern Quantity Theory of Maoney concludes that
changes in aggregate spending are primarily determined by changes in
1. The money supply """

2. Interest rate

3. The velocity of money

4. Government spending and taxes

7. if nominal GDP d price index.(base = 100} is 200, calculate
real GDP.
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8.The negative relationship between the gap between actual GDP and
its trend value and the difference between actual unemployment rate
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11.Friedman’s modern Quantity Theory of Money concludes that
changes in aggregate spending are primarily determined by changes in
1. The money supply “"
2. Interest rate
3. The velocity of money
4. Government spending and taxes

13. Match the following : List— | List =l
—ibst=l

a) Classica 1) Under economics employment
b) Keynesian 2) Ineffectiveness of economics macro policies
) Supply side ) Full economics employment

d) Rational expectation

Codes:abcd

(A)3124
131424

[C)1342

(D}3421

'4) Laffer curve

2.Which of the following functions will resu
multiplier of value'5?
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A.C=100+.02Y wpL TO

z S
- 41
£ C=120+.08Y e b0 f L
C.5=-50+0.38Y e = nnl
VTS =-50+.02Y '"-“I'r‘ { = - : f o S
Choose the correct answer from the options given b <= - A r\;
1. AandConly ‘B g, - .
2. AandDonly w5 B
o* Band Donly L= Gwaty -
4, Cand D only
3.In an economy consumption function is C = 200 + 0.6Y and
investment is 1000 then find out equilibrium level of income..
Tk srefemasyr § @ud wers C = 200 + 0.6 & 3% = 1000 8 - . =
At ST o T TR A1 i C = 00 +0 L7 1 (o0d
1 3:’100/
W7 3000 . a4 - = AL
3. 2500 wn a.‘\wl ¢ A>
4. 2000
c+z = Y
o2 0o° +0'{ 1-f- [ev> = 7
4. Consider the following statem~ ( >

describing the relationship bety--- A 1290 = 0" 4 7
propensity to consume (m.p.c) Mm
of the multiplier :

4 1= 100 50O
(a) Higher the m.p.c lower is the valuex = = hﬂr" _7° = ‘3

—_——ﬂ
multiplier &l o L]
{b) Higher the m. gher is the value of m{ ' M
multiplier M -— W —

(c) If m.p.c=1, value of mulﬁplierw aT \ -

Which of the above statements is/are correct ? /—\ A
(1) (h) alone A . <« '
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(c) If m.p.c=1, value of mulﬁplierw
Which of the above statements is/are correct ?
(1) (b) alone

W2 Tb) and (c)

(3) (c) alone

(4) (a) alone

5.As per IS-LM framework, an increase in goyerament
expenditure will result in :

(1) increase in income and interest rate both\”
(2) increase in income only
(3) decrease in investment and interest rate both

(4) decrease in income and interest rate both
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(2] dvaet 3T 7 R
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